C:# Examining Digit Place Value Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

Which choice has a4 with the value of 400 or 4 hundreds?
A. 2,486 B. 8,914 C.1524 D. 264

Which choice has a4 with the value of 4,000 or 4 thousands?
A. 46,253 B. 4,879 C.6,314 D. 46,872

Which choice has a 3 with the value of 30,000 or 3 ten thousands?
A. 96,341 B. 37,629 C. 352,419 D. 18,273

Which choice has a 3 with the value of 30 or 3 tens?
A. 943 B. 431 C.73 D.73

Which choice has a 1 with the value of 100 or 1 hundred?
A.271 B. 176 C.951 D. 861

Which choice has a 6 with the value of 6,000 or 6 thousands?
A. 6,498 B. 75,692 C. 8,672 D. 4,526

Which choice has a 9 with the value of 90,000 or 9 ten thousands?
A. 93,614 B. 15,369 C. 43,529 D. 236,598

Which choice has a 8 with the value of 80 or 8 tens?
A. 128 B. 821 C.98 D. 87

Which choice has a5 with the value of 500 or 5 hundreds?
A.5734 B. 351 C. 1,589 D. 6,485

Which choice has a 6 with the value of 6,000 or 6 thousands?
A. 9,364 B. 49,826 C. 46,982 D. 8,654

Which choice has a5 with the value of 50,000 or 5 ten thousands?
A. 59,138 B. 427,516 C. 925,361 D. 16,958

Which choice has a4 with the value of 40 or 4 tens?
A. 64 B.94 C.42 D.74

Answers

10.
11.

12.

C
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C:# Examining Digit Place Value Name:

Answer Key

Solve each problem.

1) Which choice has a4 with the value of 400 or 4 hundreds?
A. 2,486 B. 8,914 C. 1524 D. 264

2) Which choice has a 4 with the value of 4,000 or 4 thousands?
A. 46,253 B. 4,879 C.6,314 D. 46,872

3) Which choice has a 3 with the value of 30,000 or 3 ten thousands?
A. 96,341 B. 37,629 C. 352,419 D. 18,273

4) Which choice has a 3 with the value of 30 or 3 tens?
A. 943 B. 431 C.73 D.73

5) Which choice has a 1 with the value of 100 or 1 hundred?
A.271 B. 176 C.951 D. 861

6) Which choice has a 6 with the value of 6,000 or 6 thousands?
A. 6,498 B. 75,692 C. 8,672 D. 4,526

7) 'Which choice has a 9 with the value of 90,000 or 9 ten thousands?
A. 93,614 B. 15,369 C. 43,529 D. 236,598

8) Which choice has a 8 with the value of 80 or 8 tens?
A. 128 B. 821 C.98 D. 87

9) Which choice has a5 with the value of 500 or 5 hundreds?
A.5734 B. 351 C. 1,589 D. 6,485

10) Which choice has a 6 with the value of 6,000 or 6 thousands?
A. 9,364 B. 49,826 C. 46,982 D. 8,654

11) Which choice has a 5 with the value of 50,000 or 5 ten thousands?
A. 59,138 B. 427,516 C. 925,361 D. 16,958

12) Which choice has a4 with the value of 40 or 4 tens?
A. 64 B.94 C.42 D.74

Answers
1 A
2. B
3 B
4 B
5 B
6. A
7. A
8 D
9. C
0. C
11. A
12. C
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